o[E GYAtel ZHelFt ol WA A 36 AW, B 60 B, B
72 M Wk ol A9, BA, BHS shtE wAgle] B 5
QL 2 B A SoA Fgol thro] FeW B o] AEA
o] & 4 Q7h

oY o0ud Gry @7 ©49

36 =22x32 60=22x3x5, 72=23x32
36, 60, 72 9 HUFFrE=22x3 =12




2. a7b-29 959 0 e F Y AL 41

rlo

® —a @ a ® o @ -1

a

a=-3 o=z
o=--()-2
@a=-3

oo (2)
@-2:-@:2
ey




3.

36 = 729 & o]&5}a] 729 — 35 — 3¢ = 243 & PESI= AL g
e FohH?

D1 @ 2 ® 3 @ 4 ®)5

36 = 729 o] 35 = 243 o]},
whbA] 729 — 243 — 3¢ = 243, 3¢ = 243 0| & g = 5 ©]|t}.




5 245 A, B9 HejFer
9

G7ha2 9 ), ThE 5 4 9 B o] For47h

3 14 @ 21 @28

9] kel @ 28 = 42 2] o7} ok,




@ 16,10, 12
© 8,6,12
© 4,16, 32

@® 40,18,16 @ 240,48, 56 ® 4,52,12

@240, 24,32 ® 120,34,16

~&B

2) 16 10 12
@ 2) 8 5 6

4 5 3
ATHSE 2x2x4 x5 x 3 = 2400|t}.

B

HATH|SE 2x2x 3 x 2 = 240]th

4) 16 32
© 4) 1 4 8

1 1 2

R AT 4E 4x 4 x 2 = 320|T},

by




T AA4 A, B 9] Htgefa= 8, FAgHlg= 280 0], A+ B = 96
Ao, A-B=? (%, A>B)

@ 12 @ 13 ® 14 @ 15 @16

S8 \
A=8a, B=28b

(S, a, b= XNE2 a>b)2tsHd

) AFH4 280 = 8 x 35 = 8 x a x b ©|t}.

axb=3502%

a=235 b=1% ] A=280, B=28°]1,

a=7,b=5%Y 1 A=>56 B=40 °|c}.
A+B=96°]B& A =56, B=40 °|t}.

. A-B=16




7.

160 2F 280 o] FoF FolA oJ® AHA4=2] Algo] B A& vh=7)
T2H?

160 = 25 x 5,280 = 23 x 5 x 7 o] B2 F4=9] X Lok
23 x 5 = 40 °|tk.
T 59] Fokr T 0] Z g ok offro| B2 40 o] oF4=9l

1, 2, 4, 5, 8, 10, 20, 40 A AF5E= 1,4 0]t

rr




X = x & 9A e M 2 A4 W, ves ok
N
51713
® 3 @ 4 ® 6 @s  Gu




+(D+4+15)x3:g

1
)

olmg

a0

o[+

7 1
>X3—5‘5

(i




10. axb<0,a-b>09% F AL a b7FA} a & AL b 9
Adigke] 2ufjo] a1, T 4=0] gto] 3 wj, g O] FH2?

®4 @-2 B2 @1 G

B ~

ab <0, a—=b>094a>0 b<0

lal = 2% |b| oA a = —2b
a+b=3%4 -2b+b=3 .. b=-3
a=-2b=(-2)x(-3) =6




o2 218 WEst= vl B4 a, b, ¢, dol ot a+b+c+d 9
a9
Z7A
1
@ axb=-5 ©b+c:—§
© |bl = ld| @ a<c<d<b
@7 @-2 o0 @ 3 ® 5
@ axb=-5 A
a=-5,b=1%=a=5b=-1
TE=u=1,b=-5%=ag=-1,b=5
1
©b+C=—§ of| A
b=-1,c=2FEb=1,c=-2
TE=Ep=-5c=10E=b=5 c=-10
© [b| = |d| o114

b=-1,d=1FE=b=1,d=-1
TE=b=-5d=5F=b=5d=-5
@a<c<d<bo|A
a=-5b=1, c=-2, d=—1°|t}.
w2t a + b+ ¢ +d = -7 °|t}.




12. 23 x5x 72 9] k4= Zo)|A] 35 9] uj=9] |49

©24 @4 @ @sH  © 10

~&B

B x5xT?=23x7x35 02L&

oF Z 35 9 vj=Ql oF9] A= 28 x 7 9 o9 A4}
2t

B+ x(1+1)=8(7H)




13. A4 a ol Histe] P(a) & 49 A& Yebd o & o,
P(1200) = P(3° x ") oA n &] k27

@1 @ 2 ® 3 (@)4 ® 5

B

1200 = 2 x 3 x 52 o|EH &2
ko e 4+ 1) x (1+
3P x ™ 9 ol A=
G+1)x(n+1)=6(m+1) (N
6x(n+1)=230°|22 n+1=50°|ch
n=4

1)x (24 1) = 30 ()




14. o 7H A5 ), f(a) £ a 9 5] A5 Uitk gojgiet.
x 100l 3 15005012, f(x) = 3 A 1, x©] gLe] A2

@ 671 (@)5711 @ 470 @ 37 ® 27

~&B

f(x) =3 oA ek9] 47t 3 A =
(&) olBmg
150 oJ5t9] &~ F &40 Al Fo| H= =

22,32 52 72 112 9] 5 7]




1 9 1 9
=573 b=5+3=9
a=-4, b=+45

" 2a+b=2x(-4)+ (+5) = -3




